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TrigonometryExercise6 for No.2

Nolz[.1=(2sin(6)—1=0) .2=(4[sm(e)]2—1=0)J
3=(sin(40)=0) 4=(cos(40)=1)
I=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[005(6)]2—cos(9):0) .4:(sin(6)—cos(6):«/5)
.5=(tan(0) sin(0) = sin(H)) 6=(4[cos(0)]’ —cos(0)=0)
NO3=[.1=(2sin(e)+1=0) .2:(4[005(6)]2—3:0)}
3=(cos(30)=0) 4=(sin(30)=1)
A=(2[sin(0)] +sin(0)—1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4=(sin(9)+cos(9)=«/§)
S =(tan(0)sin(0)=tan(0)) .6:(4[sin(6)]3—3sin(@)zO)
N05:{ 1=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
.3 =(tan(6) cos(0) =cos(0)) .4:([tan(9)]2—1:O)
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TrigonometryExercise6 Answers for No.2
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Ans3 = 1 5 3 1 3
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